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Losungen

1

Schnitt: [-7, (-4, 6), 8]
Vereinigung: (-4, 1[, 6), Infinity)

Resultat: (-4, Infinity)

2

Log[Log[E"c]] /. Log[E"c_] -» c Log[E]

Log[c]

Log[Log[E” (2Cc)]1] /. Log[E™*c_] » c Log[E]

Log[2c]

u= (Log[Log[E*Cc]] +Log[LOQ[E” (2C)]] /. LOg[E™*Cc_]1 »c Log[E]) /.
Log[a_] +Log[b_] » Log[ab]

Log[2 c?]

V= ((cMh"Sqgrt[8]) / (c”Sqrt [2]))"(Sqrt [2]/Sqgrt [3]) /. (c_"a_)"b_-c” (ab)
2

cV3

u+v//Sinmplify

c +Log[2c?)

3

f[x,b 1:=2x"2+3bx + 48

Sol ve[f [X, b] =0, {X}]

= -3b-+/3+/-128+3b2 )}, {x»% (-3b++/3+/-128+3b2)}}

{x-7 |

Sol ve[V-128 +3 b2 =0, {b}]

(o820 oo [2])
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N[%

{{b - -6.53197}, {b-6.53197}}

Plot [V-128+3Db2, (b, -10, 10}];
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Sol ve[{
3y + z =56,
Z-W==42,
2 X +Yy ==14,
Sgrt [xM2] +w=0
boXo Yy, z, wil

{{y-6, z-38, w- -4, x>4}}

Renmove["d obal ™ "]

z =23. 71467467,
10"5u == Fl oor [10"5 z]

100000 u == 2371467

102 u ==Fl oor [1072 2]

100 u == 2371

10"5u-10722u ==Floor [10r52] -Fl oor [10"2 2]
99900 u == 2369096

Sol ve[10"5u-10"2u == Fl oor [10"52Zz] - Fl oor [10"2 Z],

592274
U~ Za975 1

{u}]



TB1 1112 01_Loesnb

6
(1-Log[l1l2, Log[12, x]]) (Log[4, Log[3, x]] +1) =
. Log| oe5t] B Log [ {535 ] ~0
Log (4] Log[12]
Simplify[(1-Log[12, Log[12, x]]) (Log[4, Log[3, x]] +1)] =
(Log[12Log[12]] - Log[Log([x]]) Log| 4&‘;%’? ] o
Log[4] Log[12] -
Solve[Simplify[(l1-Log[1l2, Log[12, x]]1) (Log[4, Log[3, x]]1+1)] =0, {x}]
{{x > 8916100448256}, {x - 341}
7
Log[x”~5] /. Log[a_"b_] »blLog[a]
5Log[x]
Sol ve [0 == Eval uat e[ (Log[x]) "2 + (Log[x"5] /. Log[a_"b_] »bLog[a]) +6], {Xx}]
1
x>k x= &1
8

Sqrt [Sqrt [(s™2+2)"2]] =1

(<2+52)2)1/4

Solve[Sqgrt [SqQrt [(s"2+2)"2]] =1, {S}]
{{S%—J'L}, {s>1}, {S»—Ji\/g}, {S%J'].\/g}}

Plot[Sgrt [Sqrt[(s*2+2)"2]1]1, {s, -3, 3}, PlotRange » {0, 3.5}71;
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